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Dr. Cary Willard

Quiz 8A (20 points)




November 17, 2004
All work must be shown to receive credit. 
1. (4 points) Draw two molecules of ammonia (NH3) and show the hydrogen bonding interaction between them.

2. (4 points) Why does the boiling point of a liquid vary with atmospheric pressure?

3. (4 points) What does the triple point on a phase diagram represent?

4. (8 points) A solution of glucose (C6H12O6) has a density of 1.72 g/mL and is 5.83 M.  Calculate the % glucose and the molality of the glucose solution. 
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November 17, 2004
All work must be shown to receive credit. 

1. (4 points) Draw two molecules of ammonia (NH3) and show the hydrogen bonding interaction between them.

2. (4 points) Why does the boiling point of a liquid vary with atmospheric pressure?

3. (4 points) What does the triple point on a phase diagram represent?

4. (8 points) A solution of glucose (C6H12O6) has a density of 1.84 g/mL and is 7.52 M.  Calculate the % glucose and the molality of the glucose solution. 
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Quiz 8C (20 points)




November 17, 2004
All work must be shown to receive credit. 

1. (4 points) Why does H2S have a lower boiling point than H2Se?

Why does H2O have a much higher boiling point than H2S?

2.  (6 points) Draw a phase diagram for a substance where the liquid is more dense than the solid.  Show the regions representing the liquid, solid, and gas phases.  Label the axes.

3. (4 points) Define polarizability.  How does this property affect the strengths of London forces?

4. (6 points) A solution is made by dissolving 0.0342 g of sodium acetate (NaC2H3O2) in 732.8 grams of water.  Calculate the ppm of the sodium acetate and the molality of the solution.
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November 17, 2004
All work must be shown to receive credit. 

1. (4 points) Why does H2S have a lower boiling point than H2Se?

Why does H2O have a much higher boiling point than H2S?

2.  (6 points) Draw a phase diagram for a substance where the liquid is less dense than the solid.  Show the regions representing the liquid, solid, and gas phases.  Label the axes.

3. (4 points) Define polarizability.  How does this property affect the strengths of London forces?

4. (6 points) A solution is made by dissolving 0.0618 g of sodium acetate (NaC2H3O2) in 732.8 grams of water.  Calculate the ppm of the sodium acetate and the molality of the solution.





















